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OVERVIEW

The xn»72 stated that even though we are not supposed to redeem things (from
o»21) for more than their value, nevertheless we can pay up to a p°v97v more in
order to redeem them. There is a dispute between >"w7 and M0N0 as to what we are
redeeming for an extra p>yo7v.
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From the content of s'>'"'w9 explanation it seems that this ruling applies also to
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And it is slightly puzzling how the X923 can compare n''®, which are expensive -
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To raise the payment only up to a P>wp=u, just like %'"'1n, which cost much less -
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Therefore it seems to N1901N that this addition of only a P°¥97v is regarding »''\n,
however for a n"o it would be a greater amount.

SUMMARY
According to "w1 even for a N"O one may pay up to a p°vd9Iw more, however
according to '01n the addition of (just) a p>¥97v is regarding »"n only.

THINKING IT OVER
Seemingly 1°2°5n are more expensive than MM, so why is MdOIN agreeing that we
are 119yn the same p°vov for both P50 and Nr?!

I'See 7"n 1"7 >"w1 who writes, 23798 219w 10™ 29 1307 X9W XAYD TPRTH NP2 MR PR PRIV 'YX,
2 It does not seem logical that we can add, above the market price, the same amount (a P>¥970) for a "o, which is
very expensive as we will add for n"in, which are relatively much cheaper than a n"o!
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